BEHE - REERSHRESHT

a8 2

B rm SHI5F4H1H SHl6EF4H1H
% FIFATE S o e D T U e B P
E iR | B | T iR | B | B
BIRNHEE 260 260 2601 260
BRSNS HE 80 80 60 60
KR SHHEE 80 80 80 80
) [RE) 5 S FE ] 180 180 180 180
= IELhHEE 156 156 156 156
o L5WwhZ EBE 116 116 116 116
i MECCEE 10 10 10, 10
T phezacl6E 6 6 6 6
BEE-VYARCEBE 10 10 10 10
BEEQAECEBE 21 21
N =t [~~~ 898] 898 899] 899
BEZ2RER 9 31 60| 100 9 27 54 90
REEREBE 0 0 24 24 0 0 20 20
HEDODHFRRERE 9 36 60| 105 9 36 60| 105
2 [e—O—XCz=\gBE 12 36 90| 138 12 36 90| 138
= s HEE 9 24| 60 93 9 24| 60 93
5 IESHHEE 9 31 791 119 9 31 791 119
E| ULSWHhZEEE 6 24 51 81 6 24 51 81
MEZEBHE 9 30 51 90 9 30 51 90
3 PhEEZEEBE 12 32 76| 120 12 32 76| 120
5| BEB-VYACEBE 9 24 57 90 9 24 57 90
2| NREZSDDORERE 5 14 19 5 14 19
T | NRIEEEROERER 3 16 19 3 16 19
EEFBRRE SR
PEVEE L DA 8 18 14 40 8 18 14 40
v Bt 100 316| 622|1,038| 100 312| 612[1,024
a &t 100 316|1,520|1,936| 100{ 312|1,511|1,923

x1 BABMHEIG. A—FXANCHIER

HE T - BARZIRET UE T

x2 BEERBEE. 6 F 4 B (CHFRESRER

HERRECEERERDRIAHTY,
X3 RERBEE. HH2EENSHROZAZFLELTED. ERENIANT
ZENX(IEE UZRICHET 3 RIAH T,
x4 NIHEETE. 3B 2 5 AFHR. 4 - 5KIE 3 5 AFRDERTE
SHAFEENS. CEBE - REEOHBEERE SSHE 3T 2 0 AF R,
4 - 5B 3 0 AFHRICRELE U,

EZEBRNBITL.

BEOTH6F4HZLEBREEE

(RF7)

TUZhY,

X1

X2

X2
X3



